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6.1

` 60 (i)

51 7 (ii)

 z y x

(i)

60 = 5

` Y 

5Y = 60

'Y' 

(ii) 

x + 5 = 0 x + = 0 x + 3 = 0

(ii) 

Linear Equation in Two variables
6
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6.2

2 4

` 100 

y x 

 `Y ` x

4x + 2y = 100 

y x 

y x 

4x + 2y = 100 

'y' 'x'  

p + 3q = 50

p +  3q  50  =  0

3s-2t-30=0

b  a ax + by + c = 0 y x

   

137 :1 

'y' 'x' 
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x + y = 137

:2 

'y' 'x' 

'4y' 'y' 

x = 4y

x  4y = 0 

27 :3 

y x 

10y + x y x 

10x + y 

= 27

10y + x  (10x + y) = 27

10y + x  10x  y  27 = 0

   9y  9x  27 = 0

y – x – 3  = 0        

  x  y + 3 = 0

c b a  ax + by + c = 0 :4 

(i) 3x + 4y = 5 (ii) x  5 = 

(iii) 3x = y (iv)

(v) 3x - 7 = 0

3x + 4y = 5 (i)

3x + 4y  5 = 0

c = 5 b = 4 a = 3
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x  5 = (ii)

1.x   5 = 0

a = 1, b = c = 5

3x = y (iii)

3x  y + 0 = 0 

c = 0 b = 1 a = 3

(iv)

3x 7 = 0 (v)

3x + 0. y  7 = 0.

a = 3, b = 0; c = 7

c b  a ax + by + c = 0 :5 

x = 5 (i)

y = 2 (ii)

 2x = 3 (iii)

5y = 3 (iv)SCERT T
ELA
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c  b  a ax + by + c = 0 .1

c b a ax + by + c = 0 .1

6.1 

c b a ax + by + c = 0 .2
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.3

34 (i)

5 (ii)

10 (iiii)

1̀5 2̀ (iv)

100

`200 (v)

121 (vi)

'y' 'x' 

6.3

3x - 4 = 8 

3x - 2y = 5 

x = 3 

x = 3 

 3 (3) - 2y = 5 

9 - 2y = 5    

'y' 'x' 

'y' 

9 - 2y = 5 2y = 4 or y = 2 

y = 2 x = 3 3x - 2y = 5 

'y' 'x' 
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'y' 'x' 

3x - 2y = 5 y = 2 x = 3

'y' 'x' (3, 2) 

x = 4  

12 - 2y = 5 3x - 2y = 5 

3x - 2y = 5 

(1, -1) 3x - 2y = 5 

'y' x = 0 

'x' y = 0 

5 

4x + y = 9 :6 

(-1, 13) (1,5) ,(0, 9)

'y' 'x'
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x + 2y = 4 :7 

(i) (0, 2) (ii) (2, 0) (iii) (4, 0) (iv)

(v) (1, 1) (vi) (-2, 3) 

LHS = RHS 

x + 2y = 4 

LHS
RHS

LHS
RHS

(1, 1)

(-2, 3)

(0,2)

(0,2)
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'k' 5x - 7y y = 2 x = 3 :8 

y = 2 x = 3 

5x - 7y = k 

5 3 - 7 2 = k 

15 - 14 = k

1 = k

k = 1

5x - 7y = 1

k 5x + 3y - 7 = 0 y = k x = 2k + 1 :9 

5x + 3y - 7 = 0 y = k x = 2k + 1 

'y' 'x' 

5(2k + 1) + 3k – 7 = 0

 10k + 5 + 3k – 7 = 0

 13k  - 2 = 0   

 13k = 2

 k = 

.1

6.2 

b a  (b, 0) (0, a) .2

2x - 5y = 10 .3

'k' y = 1 x = 2 2x + 3y = k .4
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' ' 3x + 2y + 6 = 0 y = 2 +  x = 2 - .5

'a'  3x + ay = 6 y = 1 x = 1 .6

.7

6.4

y = 4 - 2x 4 = 2x + y 

(2, 0) y = 0 x = 2 x 'y'

y x 

'y'   'x' 

x 'x' 

(2, (0, 4) y 'y'

(1, 2) (3, -2) 0) 

AB AD

(4, -4) 
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AD 

AD (1, 1) 

AD

.1

.2

.3

.4

ax + by + c = 0 

b a

6.4.1

.1

'y' x = 2 .2

'x' y = 0 .3

(x, y) y x .4

.5

.6

'y' 'x' 
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(2, 4) 

(2, 4) .1

.2

(2, 4) .3

y  2x = 4 :10 

(2, 8) (2, 8) (2, 8) (i)

(4, 2) (4, 2) (ii)

(iii)

y - 2x = 4 y = 2x + 4

BC C B A

y - 2x = 4 

(2, 8) (2, 8) (i)

(2, 8) 

LHS = y - 2x = 8 - 2 x    2 = 8 - 4 = 4 = RHS

(2, 8) 
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(4, 2) (4, 2) (ii)

(4, 2) 

LHS = y - 2x = 2 - 2 4 = 2 - 8 = - 6  RHS

(4, 2) 

(-1, 2) (-3, -2) (-4, -4) (iii)

(-4,1) (2,1) (1,5) y = 2x + 4

x - 2y = 3 :11 

x = -5 (x, y) (i)

y = 0 (x, y) (ii)

x = 0 (x, y) (iii)

x - 2y = 3 y = 
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C B A

x = -5 x = -5 (x, y) (i)

(x = -5) Y 

y = -4 X 'P'

(-5, -4) P

x - 2y = 3 P(-5, -4) 

y = 0 (x, y) (ii)

X X (x, 0) y = 0 

x - 2y = 3 
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(3, 0) (3, 0) 

x = 0 (x, y) (iii)

Y (0, y) x = 0 

x - 2y = 3 

Y

6.3  

    .1          

i) 2y = -x + 1    ii) –x + y = 6 iii) 3x + 5y = 15 iv)  

.2

i) y = x ii) y = 2x iii) y = -2x iv) y = 3x v) y = -3x

'm' y = mx (i)

(ii)

(iii)

x = 1 'y' 2x + 3y  = 11 .3

y - x = 2 .4

x = 4 y (i)

y = - 3 x (ii)

2x + 3y = 12 .5

3 y (i)

-3 x  (ii)

.6

i) 6x - 3y = 12 ii) x + 4y = 8 i    iii) 3x + 2y + 6 = 0
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1000 .7

5000 .8

6kg .9

4 9.8t .10

25% :12 

25 (i)

45 (ii)

(iii)

'x' 

'y' 

x + y = 

25% 

x = 25% (x + y) 

(x + y) = (x + y)

x =  (x + y)

4x = x + y 
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3x = y

3x - y = 0 3x = y 

C B A 

75 25 (i)

15 45 (ii)

(iii)

'm' y = mx 

20 = 1 X

20 = 1 Y

SCERT T
ELA

NGANA



141 2020-21

:13 

(-1, 1) (0, 0) (-1, 1) (i)

y = x (1, -1) 

y = x 

x + y = 0 (1, -1)

x + y = 0 

(-1, 1) (0, 0) (1, -1) 2 + 3y  = 7x y = 2x 
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(-1, 3) (0, 2) (2, 0) (ii)

y = - x + 2 

y = - x + 2 

x + 2y = 6 

6.4 

60% .1

1200 (i)

800 (ii)

'x' 

y 'x' 'y' 

60% 

25 .2

25 (i)

40 (ii)

x 8 15 .3

y 

7 55

.4

x 27

y 

7 4
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10 50 .5

(ii) (i)

80 (iii)

60 .6

(iii) 2 (ii) (i)

1:8 .7

12

8x = y x : y = 1:8 y x 

5:2 28 .8

5 + 2 : 5 = 7 : 5 =

(C0) .9

y x (i)

300C (ii)

950F (iii)

(iv)
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- Y  -X 6.5

x = 3 x = 3 

x  0.y  3  0

'x' 'y' 'y' 

3 

(3, a)

'a' 

 

-Y -Y

x =  3

3 -Y
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(i) .1

(a) x = 2 (b) x = -2 (c) x = 4 (d) x = -4

-Y (ii)

-Y (iii)

(i) .2

(a) y = 2 (b) y = -2 (c) y = 3 (d) y = -3

-X (ii)

-X (iii)

-Y (k,o) K y x = k .1

(o,k) k -X x y = k .2

-Y -X 6.5.1

0.x + y = 0 y = 0 
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 -X = 0 -Y -X

y  0 x 

-Y

6.4 

.1

(b) (a)

3x + 5 = 0 (v) 2x - 9 = 0 (iv) y = 4 (iii) y + 3 = 0 (ii) x = 3 (i)

2x - 11 = 0 .2

(ii) (i)
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3x + 2 = 8x - 8 .3

(ii) (i)

-X .4

(3, 4) (iv) (2, - 5) (iii) (0, 4) (ii) (0, - 3) (i)

y .5

(-4, -3) (iv) (3, 5) (iii) (2, 0) (ii) (-4, 0) (i)

.6

-Y (ii) -X (i)

.1

y x .2

.3

.4

y = mx .5

(k,o) k -Y x = k .6

(o,k) k x y = k .7

-X y = 0 .8

-Y x = 0 .9
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